(Affiliated to University of Mumbai)

Jambhul Phata, Ambernath (W), Ambernath

Result Register (A.T.K.T. Exam.)

Repeater

PROGRAMME : Bachelor of Science

EXAMINATION : September - 2024

Sr. No.	Seat No.	Name	Foundation Course - II				General I Chemistry - II		Chemistry Practical		Mathematic al Physics		Electricity and Electronics		Physics Practical		Calculus - II		Discreate Mathematics - II		Maths Practical		Total Marks		Credits Earned	Gr- ade
				SEE 30/75	IA 0/0	SEE 40/100	IA 0/0	SEE 40/100		SEE 40/100		SEE 40/100		SEE 40/100		SEE 40/100		SEE 30/75		SEE 30/75		SEE 40/100				
1		YADAV AMIT KANHAIYA KUSSUM	\$20	\$55		\$50		\$45		\$45		\$40		\$45		\$75	\$18	ABS	\$16	ABS		\$40	449	94	16.0	F

(Affiliated to University of Mumbai)

Jambhul Phata, Ambernath (W), Ambernath

Result Register (A.T.K.T. Exam.)

Repeater

PROGRAMME : Bachelor of Science

EXAMINATION : September - 2024

Sr. No.	Seat No.	Name			Ecology and Wild life Managemen		d Nutrition and Public Health		d Zoology h Practical		Plant Diversity - I		Form and Function		Botany Practical		General Chemistry - I		General I Chemistry - II		Chemistry Practical		Total Marks		Credits Earned		Gr- ade
			IA 10/25	SEE 30/75	IA 0/0	SEE 40/100	IA 0/0	SEE 40/100		SEE 40/100		SEE 40/100		SEE 40/100				SEE 30/75		SEE 30/75		SEE 40/100					
2	KTBSCSII24001	/ R DHATCHAYINI RAMALINGAM PASUMATHI	\$12	\$30		\$40		\$52		\$50		\$40		\$42		\$57	\$16	\$30	\$17	31		\$77	494	108	20.0	5.40	С
3	KTBSCSII24008	/ TADGE SANIKA CHANDRAKANT SANGEETA	\$11	\$30		24		\$48		\$50		\$41		\$60		\$72	\$17	\$34	\$17	\$32		\$65	501	110	18.0		F

(Affiliated to University of Mumbai)

Jambhul Phata, Ambernath (W), Ambernath

Result Register (A.T.K.T. Exam.)

Repeater

PROGRAMME : Bachelor of Science

EXAMINATION : September - 2024

Sr. No.	Seat No.	Name		Foundation Course - II I		Plant Diversity - I		n and ction	Botany Practical		General Chemistry - I		General Chemistry - II		Chemistry Practical		Optics- I		Electricity and Electronics		Physics Practical		Total Marks		Credits Earned	SGPA	Gr- ade
			IA	SEE	IA	SEE	IA	SEE		SEE		SEE		SEE	IA	SEE		SEE	IA	SEE		SEE					
			10/25	30/75	0/0	40/100	0/0	40/100	0/0	40/100	10/25	30/75	10/25	30/75	0/0	40/100	10/25	30/75	10/25	30/75	0/0	40/100					ſ
4	KTBSCSII24002	/ BAGUL SAMIKSHA SHANTARAM SUGANDHA	\$19	35		\$40		\$40		\$73	\$18	\$30	\$21	\$32		\$82	\$23	\$30	\$24	\$30		\$82	579	132	20.0	6.60) B
5	KTBSCSII24003	/ PATIL ASHVINIBEN SAMADHAN MANGALABEN	\$17	\$41		\$44		\$50		\$60	\$17	\$30	\$23	32		\$79	\$24	\$30	\$24	\$30		\$75	576	134	20.0	6.70) B
6	KTBSCSII24004	SADANSHIV AMIT PRABHAKAR ASHA	\$10	\$30		\$65		\$48		41	\$18	\$31	\$17	\$30		\$65	\$10	\$30	\$20	\$32		\$64	511	114	20.0	5.70) C
7	KTBSCSII24006	/ AHIRE PRANJALI MANOJ KALPANA	\$20	\$30		\$45		\$51		\$82	\$16	22	\$19	\$35		\$86	\$23	\$30	\$23	\$39		\$83	604	134	18.0		F

(Affiliated to University of Mumbai)

Jambhul Phata, Ambernath (W), Ambernath

Result Register (A.T.K.T. Exam.)

Repeater

PROGRAMME : Bachelor of Science

EXAMINATION : September - 2024

Sr. No.	Seat No.	Name	Foundation Course - II		Calculus - II		Discreate Mathematics - II		Maths Practical		General Chemistry - I		General Chemistry - II		Chemistry Practical		Optics- I		Electricity and Electronics		Physics Practical		Total Marks		Credits Earned		Gr- ade
				SEE 30/75		SEE 30/75	IA 10/25	SEE 30/75		SEE 40/100				SEE 30/75						SEE 30/75		SEE 40/100					
8	KTBSCSII24005	/ GAIKWAD VEDANTI SHAILENDRA SAVITA	\$16	\$30	\$17	\$48	\$22	\$32		\$76	\$19	36	\$21	\$30		\$81	\$22	\$36	\$23	\$54		\$82	645	154	20.0	7.70	B+